

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

PAPER10

PAGE	
1	

ADDRESS CORRESPONDENCE TO ATTENTION OF

JO ANN ADKINS 304-558-8802

>WZDQR

*709002530 05 800-987-5270 XPEDX AN INTERNATIONAL PAPER C PO BOX 54807

LEXINGTON KY 40555

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

DATE PRI	NTED	TER	MS OF SAL	E	SHIP V	/IA	F.O.B.		FREIGHT TERMS
08/27	/2010	28							
BID OPENING DATE	E: 0	9/15/	2010	SSASANSANSANSA	PARTICIONE DE L'ANGELLE DE L'AN	BID	OPENING TIM	E 01	:30PM
LINE	QUANT	ITΥ	UOP	CAT. NO.	ITEM NUI	VIBER	UNITPRICE		AMOUNT
<u> </u>									
			R	EQUES	T FOR QUO	TATION			
	BLANKET VARIOUS	OPEN SIZE	-END S OF	STATE PAPER	N IS SOLI WIDE CONT TO WEST SUBDIVIS	RACT TO VIRGINI	BIDS FOR A PROVIDE A STATE		
	1. PAPE	R10 S	PECIF	ICATI	QUEST FOR ONS,DATED ES, DATED	08/26/	ION: 10, 4 PAGES 10, 4 PAGES		
		OR PR	EFERE	NCE C	ERTIFICAT			A	ECEIVED
						:		2010 S	EP 24 AM II: 53
				,				\mathbb{W}	PURCHASING
0001		7	EA		395-50				DIVISION
	MISCELLA	ANEOU	PAP	ER-CO	MPUTER-TY	PING, ET	3.		
								·	
	EXHIBIT	3 .							
	LIFE OF			ND E	KTENDS FOR	R A PER	MES EFFECTIVE	(1)	
	NECESSAF	OT YS	OBTA	IN A	ASONABLE T NEW CONTRA		HEREAFTER AS RENEW THE	SIS	
	PRIGINAL						ME" PERIOD S		
					MONTHS.	DURING	THIS "REASO TRACT FOR A	NABLE	·
	REASON U	JPON (IVING	THE	DIRECTOR	OF PUR	HASING 30 I	AYS MYZ	
	WRITTEN								
						:			
		l Section 1997		SEE REV	ERSE SIDE FOR T	<u></u>			<u> </u>
SIGNATURE	ABron	in				TELEPHONE 9	187-5270	DATE	9-22-10
TITLE	TCL	FE	N 13~	0672	2805		ADDRESS	CHANGES	TO BE NOTED ABOVE
W.	FN RESPO	NDING 3				ADDRESSI	N SPACE ABOVE	LARELE	D 'VENDOD'

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- **4.** All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the *Legislative Rules* of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.htm and is hereby made part of the agreement. Provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as **EQUAL** to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



VENDOR

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for **Quotation**

8 H P

T

PAPER10

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

JO ANN ADKINS 304-558-8802

*709002530 05 800-987-5270 XPEDX AN INTERNATIONAL PAPER C PO BOX 54807

LEXINGTON KY 40555

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

DATE PRIN	ITED	TEF	MS OF SAI	E	SHIP VIA	F.O.B	FREIGHT TERMS
08/27/	2010						:
BID OPENING DATE		09/15/	2010		BID	OPENING TIME 0	1:30PM
LINE	QUAN	NTITY	UOP	CAT NO	ITEM NUMBER	UNIT-PRICE	AMOUNT
					•		
ļ	UNLESS	SPECI	FIC P	ROVIS	IONS ARE STIPULA	TED ELSEWHERE	
	IN THIS	S CONT	RACT :	DOCUM	ENT, THE TERMS,	CONDITIONS AND	
İ			HEREI:	N ARE	FIRM FOR THE LI	FE OF THE	
	CONTRAC	CT.					
	RENEWAI	L: THI	S CON	FRACT	MAY BE RENEWED I	PPON THE MUTUAL	
	WRITTE	N CONS	ENT O	F THE	SPENDING UNIT A	ND VENDOR,	(4)
•	SUBMIT.	red to	THE	DIREC'	FOR OF PURCHASING	THIRTY (30)	14
						CH RENEWAL SHALL	
	BE IN A	ACCORD	ANCE	WITH '	THE TERMS AND CO	NDITIONS OF THE	1
				AND	SHALL BE LIMITED	TO TWO (2) ONE	
	(1) YEA	AR PER	LODS.				
	CANCETT	7 TT C NT	(T) (T) (T)	DIDE	TEOD OF PITOGUE		1
	CANCELL	TALTON	THE	DIKE	CTOR OF PURCHASI	NG RESERVES THE	· ·
	KIGHT I	LO CANO	LEL T	ILS CO	ONTRACT IMMEDIATI	LY UPON WRITTEN	
	NOTICE	TO THI	CENT 5	OK TI	THE COMMODITIES	AND/OR SERVICES	5
	ACLUTE	CDECTI	OF AL	LOMG (ERIOR QUALITY OR	DO NOT CONFORM	
	IO IUE	SEECTI	LCALL	LOND (OF THE BID AND CO	DNTRACT HEREIN.	
·	OPEN MZ	ייםאם	יד. א ז דפיז	. ហប	DIRECTOR OF PUR	CITA CITATO MANAZ	
					VIT TO PURCHASE		
					LING OF A REQUIS		
,	ESTIMAT	וידי יבי	IMC C	DECLE	ED ON THIS CONT	TITON OR COST	İ
,					EMERGENCIES DUE		
	CALISES	(TNCL	TULNIC	י דוום ו	OT LIMITED TO DE	TAYO IN TRANC	
	PORTATT	ON OB	ודו מב	ו דייוא בו	CIPATED INCREASE	TN THE MOLIME	
	OF WORK		111, 01	42.75.4.7.7.7.	INCREASE	IN THE VOLIOME	
		- ' /			İ		
	DITMAU	TES:	TUAUT	TIES	LISTED IN THE RE	COUTSTITON ARE	
	APPROXI	MATIO	IS ON	Y. BA	SED ON ESTIMATES	SIIPPITED BY	
,	THE STA	TE SPI	ENDING	TINU	IT IS UNDERST	COOD AND AGREED	
					COVER THE QUANT	TTTES ACTUALLY	
(DERED	FOR I	ELIVE	RY DI	RING THE TERM OF	THE CONTRACT	
ī	WHETHER	MORE	OR L	SS T	IAN THE QUANTITIE	S SHOWN.	
						•	
				SEERE	ERSE SIDE FOR TERMS AND CON		-1
SIGNATURE	Khron				TELEPHONE	787 -52 70 DATE	9-22-10
TITLE		FE	IN 12				
mes.	/ <i>/ /></i>	DAID1210 =	/5-	00/	2605		S TO BE NOTED ABOVE
U WH	FIN HERY	JNUING	IU KFQ,	INSER	I NAME AND ADDRESS I	N SPACE ABOVE LABEL	ED 'VENDOR'



MODSM<

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

PAPER10

ADDRESS CORRESPONDENCE TO ATTENTION OF

JO ANN ADKINS 804-558-8802

800-987-5270 XPEDX AN INTERNATIONAL PAPER C

LEXINGTON KY 40555

*709002530 05

PO BOX 54807

ALL STATE AGENCIES SH-P AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER T

DATE PRIN	<u> 6000000000000000000000000000000000000</u>	IEH	MS OF SAL	±	SHIP	VIA	F.O.B	FREIGHTTERMS
08/27/ BID OPENING DATE:		<u> </u>						
BID OPENING DATE:		09/15/;	2010	poppostanestica	85555555555555555	BID (PPENING TIME 01	L:30PM
LINE	QUAI	VTITY	UOP	CAT. NO.	ITEMNU	IMBER	UNITPRICE	AMOUNT
	WRITTEI THE VEI THE OR: VENDOR MAILED RETAINI BANKRUI FOR BAI CALLY I	N STATE NDOR FOR IGINAL AS AUT TO THE ED BY TO PTCY:	E CONDR COLOR COPY THORI PURCE THE SI IN TI CY PRO	E: SP TRACT MMODI OF T ZATIO CHASI PENDII HE EV	ORDER (FIES COVE FIES COVE HE WV-39 N FOR SHI NG DIVISI NG UNIT. ENT THE VION, THIS	ORM NUMINED BY SHALL BE PMENT, A CON, AND SENDOR/CO	HALL ISSUE A BER WV-39) TO THIS CONTRACT. E MAILED TO THE A SECOND COPY A THIRD COPY ONTRACTOR FILES CT IS AUTOMATI- WITHOUT FURTHER	
	SHALL S CONDITI DOCUMEN AGREEMI	SUPERSI IONS WI NTS SUC ENTS OF ONIC MI	EDE AI HICH I CH AS R MAII EDIUM	NY ANI MAY A PRICI NTENAI	D ALL SUB PPEAR ON E LISTS,	SEQUENT ANY ATTA ORDER FO MENTS,	THIS CONTRACT TERMS AND ACHED PRINTED DRMS, SALES INCLUDING ANY	
•	****	THIS	IS T				210 ***** TOTAL:	
SIGNATURE	~ D .#			occ HEV	ERSE SIDE FOR T			
(MAN	w				TELEPHONE -	987 - 5270 DATE	9-22-10
TITLE MA	T10	FE	N /2-	08	77 ani-	<u>, </u>		S TO BE NOTED ABOVE
	<u>/ </u>	20101010	7 7	00	72805		ADDITESS CHANGES	, TO BE NOTED ABOVE

Inquiries:

Written questions shall be accepted through close of business, Tuesday, September 7, 2010. Questions may be sent via USPS, fax, courier or email. In order to assure no vendor receives an unfair advantage, no substantive questions will be answered orally. If possible, e-mail questions are preferred. Address inquiries to:

Jo Ann Adkins
Department of Administration
Purchasing Division
2019 Washington Street, East
Charleston, WV 25305
Fax: 304.558.4115

Email: jo.a.adkins@wv.gov

Delivery:

All orders of paper must be delivered within 10 working days after receipt of order.

All orders totaling \$1,000.00 or more to a single West Virginia delivery point shall be F.O.B. destination.

Orders totaling less than \$1,000.00 to a single West Virginia delivery point may (at the vendor's discretion) be F.O.B. shipping point. Vendor must inform the ordering agency of the estimated freight charges for all orders on which a delivery charge shall be made.

If the vendor has a fixed delivery charge for orders less than \$1,000.00, the vendor shall indicate the amount on the pricing pages.

If the vendor will ship all orders, regardless of dollar total, they should so state on the pricing pages.

Paper Requirements

All paper is to be ream wrapped (except where noted). All fine papers are to be listed in the most current edition of "Grade Finders".

Specifications – PAPER 2010

There are two envelopes on the pricing pages. The price per box of 500 envelopes should be entered in the unit price column.

Computer paper

Construction: continuous, marginally punched on both sides for high speed printer feed. Paper shall be blank, ½" green bar, 1/6" green bar, or three lines per inch as indicated at the time the order is placed. No up-charge will be permitted on green bar paper.

Horizontal Perforations: All sets of forms shall have horizontal perforation between sets through all parts and carbons. Horizontal perforations shall be at right angle to marginal aligning holes and fall halfway between marginal aligning holes; 12 cuts per inch vertical perforations: Paper shall be non-perforated on right and left sided unless specified for a particular item. If specified, vertical perforations are to result in clean edges when aligning strips are removed.

Fastening: paper shall have temporary crimping or incomplete holes. Carbons, if any, shall be mechanically removable without aligning strips. Wire stitching or stapling is unacceptable.

Packaging: Paper shall be folded, with no breaks, in close-fitting cartons, with a corrugated or fiberboard pad on top and bottom. Cartons shall be labeled on one end, identifying form size, type, number of parts, and vendor name and address.

Award

The State of West Virginia reserves the right to award multiple contracts if it is deemed to be in the best interests of the State of West Virginia.

Recycled Paper

Recycled paper must meet the minimum recycled content guidelines issued by the Environmental Protection Agency (EPA). The EPA guidelines require minimums of 30% post consumer content for most uncoated printing and writing papers, and 10% for most coated paper.

NOTE: In addition to those items identified as recycled, recycled items meeting individual specifications may be bid for other items on this contract. Recycled paper shall be given a 10% preference over virgin paper.

Bids

Specifications – PAPER 2010

All prices for paper are to be quoted per 1,000 sheets. If the item is a multiple page set, prices must be quoted per 1,000 sets. For example, the pricing pages may show 25; that would be 25,000 sheets.

All bids submitted must be firm for 90 days from contract award date. After the initial 90 days, Vendors will be permitted to make substantiated requests for increase at 90 day intervals, with 30-days notice. Vendor shall be required to ≠ submit a complete price list on both paper and electronic (CD or email) in an Excel format. For each price where a price change occurs (+ or -) the vendor must indicate + or – and the new price of each item. If no changes occurs, the price column shall remain unchanged, but shall reflect the same cost.

This, in effect, will limit the number of change orders to a MAXIMUM of four (4) per year. Prices bid are not subject to any "upcharges". Failure to hold prices firm for each 90-day period shall be grounds to disqualify the bid or cancel any subsequent contract.

Change orders shall not be done at interim periods for price decreases. The vendors shall be expected to quote the lesser prices and invoice accordingly in the event that decreases occur during each of the 90-day periods. Decreases may be done at the normal 90-day timetable, but shall not be changed via change order until the next 90-day cycle.

NO ALTERNATE TERMS SHALL BE ACCEPTED.

At any time the vendor requests a price adjustment, the purchasing division may either accept the price adjustment and amend the contract accordingly, or reject the adjustment in its entirety and cancel the contract.

Vendors should indicate the brand names for all items bid. Samples may be required for any and all of the items bid. When/if samples are requested, vendors must submit samples within 10 days of the request for the bid on that item or group of items will be rejected. Vendors bidding should include mill swatch books (covering all applicable items) with their bid. Successful bidder(s) may also be required to furnish swatch books to any and all agencies upon request throughout the life of this contract.

NOTE: "PM" in the unit of measure column = per thousand

NOTE: All quantities are estimates and are not to be construed as any guarantee of any quantity.

Contract Coordinator

Specifications – PAPER 2010

Vendors should complete the vendor contract coordinator information at the end of the pricing pages. If the individual who "manages" any subsequent contract is a different person, please list that information also.

Reports

Successful vendor shall be required to submit quarterly reports of all purchases against the contract. Additionally, vendor shall be required to submit an annual report that contains the total amount of purchases and the agencies which have placed orders against the contract.

	The state of the s				EST		
ltem	Description	Size	Weight	Color	Usage (1000)	Price Per 1,000	Total
1	bond: #1 watermark, sulphite	8-1/2 x 11	50#	white	300	15.75	4725
2	bond: #1 watermark, sulphite	8-1/2 X 14	50#	white	2/	20.25	1518.75
က	bond: #1 watermark, sulphite	11×17	20#	white	75	30	2250
4	bond: #4 premium	8-1/2 x 11	50#	white	110,000	6.04	664400
5	bond: #4 premium	8-1/2 x 14	50#	white	150	8.41	1261.5
9	bond: #4 premium	11×17	20#	white	09	13.34	800.4
7	bond: #4 premium	17 x 22	50#	white	000	33.34	1000.2
∞	bond: #4 premium	17-1/2 x 22-1/2	20#	white	30	33.34	1000.2
တ	bond: #4 premium	23 x 35	20#	white	30	75	2250
10	bond: #4 premium	25 x 38	20#	white	30	06	2700
=	bond: #4 premium, 3 hole punch, unlined	8-1/2 x 11	20#	white	150	7.64	1146
12	bond: #4 premium recycled, 3 hole punch, unlined	8-1/2 x 11	50#	white	150	8.06	1209
13		8-1/2 x 11	50#	white	110,000	7.15	786500
14	bond: #4 premium recycled	8-1/2 × 11	20#	colors	25,000	7.5	187500
15	bond: #4 premium recycled	8-1/2 x 14	50#	white	150	9.45	1417.5
16	bond: #4 premium recycled	8-1/2 x 14	20#	colors	30	11.25	337.5
17	bond: #4 premium recycled	11 x 17	50#	white	30	14.62	438.6
48	bond: #4 premium recycled	11 x17	50#	colors	25,000	14.25	356250
19	bond: #4 premium recycled	17-1/2 x 22-1/2	20#	colors	30	44	1320
20	offset: #2 coated,regular, smooth	23 x 35 **	#09	white	15	140	2100
21	offset: #2 coated,regular, smooth	23 x 35 **	#02	white	15		2130
22	offset: #2 coated,regular, smooth	23 x 35 **	#08	white	15		2280
23	offset: #2 coated,regular, smooth	23 x 35 **	100#	white	15	187	2805
24	offset: #2 coated,regular, smooth	19 x 25	#09	white	30	02	2100
25	offset: #2 coated, regular, smooth	19 x 25	402	white	30	22	2310
56	offset: #2 coated, regular, smooth	19 x 25	#08	white	30	88	2640
27	offset: #2 coated,regular, smooth	19 x 25	100#	white	30	110	3300
78	offset: #2 coated,regular, smooth	23 x 35	#09	white	30	140	4200
29	offset: #2 coated,regular, smooth	23 x 35	402	white	30	142	4260
တ္တ	offset: #2 coated,regular, smooth	23 x 35	#08	white	08	152	4560
33	offset: #2 coated,regular, smooth	23 x 35	100#	white	30	187	5610
32	offset: #2 coated,regular, smooth	25 x 38	#09	white	30	141	4230
33	offset: #2 coated,regular, smooth	25 x 38	#02	white	30	155	4650
34	offset: #2 coated,regular, smooth	25 x 38	#08	white	30	177	5310

					EST		
ltem	Description	Size	Weight	Color	Usage (1000)	Price Per 1,000	Total
35	offset: #2 coated,regular, smooth	25 x 38	100#	white	30	220	0099
36	offset: #2 coated,regular, smooth	28 × 40	#09	white	30	167	5010
37	offset: #2 coated,regular, smooth	28 x 40	#02	white	30	184	5520
88	offset: #2 coated,regular, smooth	28 x 40	#08	white	30	200	0009
39	offset: #2 coated,regular, smooth	28 x 40	100#	white	30	250	7500
40	offset: #2 recycled, coated, regular, smooth	17-1/2 x 22-1/2	#02*	white	30	89	2040
41		17-1/2 x 22-1/2	#02	white	30	89	2040
42	offset: #2 recycled, coated, regular, smooth	17-1/2 × 22-1/2	#08	white	30	73	2190
43	offset: #2 recycled, coated, regular, smooth	19 x 25	#0 / _*	white	30		2250
44	offset: #2 recycled, coated, regular, smooth	19 x 25	#02	white	30	75	2250
45	offset: #2 recycled, coated, regular, smooth	19 x 25	#08	white	30		2550
46	offset: #2 recycled, coated, regular, smooth	23 x 35	#04*	white	30	140	4200
47	offset: #2 recycled, coated, regular, smooth	23 x 35	#0/	white	30		4200
48	offset: #2 recycled, coated, regular, smooth	23 x 35	#08	white	30		4560
49	offset: #2 recycled, coated, regular, smooth	25 x 38	#09	white	30	156	4680
22		25 x 38	#02	white	08		3330
5	offset: #2 recycled, coated, regular, smooth	25 x 38	#08	white	30	115	3450
52	offset: #1 regular finish	8-1/2 x 11	#09	white	105	10	1050
53	offset: #1 regular finish	8-1/2 × 11	#09	white	09	11	099
42	offset: #1 regular finish	8-1/2 x 11	#02	white	09		720
55	offset: #1 regular finish, recycled	8-1/2 × 11	#09	white	30	10.15	304.5
26	offset: #1 regular finish, recycled	8-1/2 x 11	#02	white	30		330
22	offset: #1 regular finish	8-1/2 × 14	#09	white	30		480
28	offset: #1 regular finish	8-1/2 × 14	#09	white	30	16	480
29	offset: #1 regular finish	8-1/2 x 14	#02	white	30	18	540
8	offset: #1 regular finish	11 x 17	#09	white	30		099
61	offset: #1 regular finish	11 × 17	#09	white	30	24	720
62	offset: #1 regular finish	11 × 17	40 2	white	30	26	780
63	offset: #1 regular finish	17-1/2 x 22-1/2	20#	white	30	42	1260
64	offset: #1 regular finish	17-1/2 × 22-1/2	#09	white	30	20	1500
92	offset: #1 regular finish	17-1/2 × 22-1/2	#02	white	30	22	1650
99	offset: #1 regular finish	19 x 25	20#	white	30	09	1800
29	offset: #1 regular finish	19 x 25	#09	white	30	09	1800
88	offset: #1 regular finish	19 x 25	#02	white	30	52	1650
69	offset: #1 regular finish	23 x 35	20#	white	30	135	4050
70	offset: #1 regular finish	23 x 35	#09	white	30	95	2850

					EST		
					Usage	Price Per	
Item	Description	Size	Weight	Color	(1000)	1,000	Total
71	offset: #1 regular finish	23 x 35	#02	white	30	113	3390
72	offset: #1 regular finish	25 x 38	#09	white	30	95	2850
73	offset: #1 regular finish	25 x 38	#09	white	30	106	3180
74	offset: #1 regular finish	25 x 38	#02	white	30	110	3300
75	offset: #1 vellum	8-1/2 x 11	20#	white	75	9.5	712.5
9/	offset: #1 vellum	8-1/2 x 11	#09	white	75	10.5	787.5
77	offset: #1 vellum	8-1/2 x 11	#02	white	75	11	825
78	offset: #1 vellum	8-1/2 x 11	20/20#	colors	75	7.5	562.5
6/	offset: #1 vellum	8-1/2 x 11	#09	colors	30	8	240
8	offset: #1 vellum	8-1/2 x 11	#02	colors	30	8.5	255
8	offset: #1 vellum	11 x 17	20/20#	white	30	14.25	427.5
82	offset: #1 vellum	11 x 17	#09	white	30	20	009
83	offset: #1 vellum	11 x17	#02	white	30		099
84	offset: #1 vellum	11 x17	#09	colors	30	14.25	427.5
85	offset: #1 vellum	11 x 17	#09	colors	30	14.25	427.5
98	offset: #1 vellum	11 x 17	#0/	colors	30	24	720
87	offset: #1 vellum	17-1/2 x 22-1/2	#09	white	30	39	1170
88	offset: #1 vellum	17-1/2 x 22-1/2	#09	white	30		1200
68	offset: #1 vellum	17-1/2 x 22-1/2	40 2	white	30		1620
06	offset: #1 vellum	17-1/2 x 22-1/2	#08	white	30		1800
9	offset: #1 vellum	23 x 35	#09	white	30	1	3300
92	offset: #1 vellum	23 x 35	#09	white	08	88	2640
83	offset: #1 vellum	23 x 35	#02	white	30		3360
94	offset: #1 vellum	23 x 35	#08	white	30	120	3600
95	offset: #1 vellum	23 x 35	20#	colors	30	78	2340
96	offset: #1 vellum	23 x 35	#09	colors	30	06	2700
26	offset: #1 vellum	23 x 35	40 2	colors	30		3210
86	offset: #1 vellum	23 x 35	#0 2*	colors	30		3210
66	offset: #1 opaque, embossed	23 x 35	#02	white	30	200	0009
100	offset: #1 opaque, embossed	25 x 38	#0/	white	30	230	0069
101	offset: #1 opaque, embossed	23 x 35	40 2	colors	30	195	5850
102	offset: #1 opaque, embossed	25 x 38	#02	colors	30	227	6810
103	cover: #3 coated	20 x 26	#09	white	30	130	3900
104	cover: #3 coated	23 x 35	#09	white	30	93	2790
105	cover: #3 coated	20 x 26	#08	white	30	170	5100
106	cover. #3 coated	23 × 35	#08	white	30	115	3450

Page 3 of 7

***************************************					EST		
					Usage	Price Per	•
ltem	Description	Size	Weight	Color	(1000)	1,000	Total
107	cover: #3 coated	20 x 26	100#	white	30	175	5250
108	cover: #3 coated	23 x 35	100#	white	30	255	7650
109	offset: #1 opaque, cover	8-1/2 x 11	#99	white	75	20	1500
110	offset: #1 opaque, cover	8-1/2 x 11	#08	white	45	25	1125
111	offset: #1 opaque, cover	8-1/2 x 11	#99	colors	30	21	630
112	offset: #1 opaque, cover	8-1/2 x 11	#08	colors	30	09	1800
113	index: #4	8-1/2 x 11	#06	white	30	19	929
114	index: #4	8-1/2 x 11	#06	colors	30	20	009
115	index: #4	8-1/2 x 11	110#	white	30	22	099
116	index: #4	8-1/2 x 11	110#	colors	30	23	069
117	index: #4	22-1/2 x 35	#06	white	30	156	4680
118	index: #4	25-1/2 × 30-1/2	#06	white	30	166	4980
119	index: #4	22-1/2 x 35	#06	colors	30	160	4800
120	index: #4	25-1/2 x 30-1/2	#06	colors	30	162	4860
121	index: #4	22-1/2 x 35	110#	white	30	189	5670
122	index: #4	25-1/2 x 30-1/2	110#	white	30	188	5640
123	index: #4	22-1/2 x 35	110#	colors	30	196	5880
124	index: #4	25-1/2 × 30-1/2	110#	colors	30	200	0009
125	index: #4 recycled	22-1/2 x 35	#06	white	30	156	4680
126	index: #4 recycled	25-1/2 x 30-1/2	110#	white	30	188	5640
127	index: #4 recycled	22-1/2 x 35	#06	colors	30	160	4800
128	index; #4 recycled	25-1/2 × 30-1/2	110#	colors	30	201	6030
129	carbonless: 2 part	8-1/2 x 11			75	12.85	963.75
130	carbonless: 3 part, straight	8-1/2 x 11			75	13.8	1035
131	carbonless: 4 part, straight	8-1/2 x 11			75	15.9	1192.5
132	carbonless: 5 part, straight	8-1/2 x 11			75	16.15	1211.25
133	carbonless: 6 part, straight	8-1/2 x 11			75	16	1200
134	carbonless: 2 part, straight	8-1/2 × 14			75	17.5	1312.5
135	carbonless: 3 part, straight	8-1/2 x 14			75	18.6	1395
136	carbonless: 4 part, straight	8-1/2 x 14			75	19.5	1462.5
137	carbonless: 5 part, straight	8-1/2 x 14			75	20	1500
138	carbonless: 6 part, straight	8-1/2 x 14			75		
139	carbonless: 2 part, straight	11×17			75	24	1800
140	carbonless: 3 part, straight	11 x 17			75	27.5	2062.5
141	carbonless: 4 part, straight	11 x 17			75	29	2175
142	carbonless: 5 part, straight	11 x 17			75	32	2400

Page 4 of 7

					EST		
tem	Description	Size	Weiaht	Color	Usage (1000)	Price Per 1.000	Total
143	carbonless: 2 part. reverse	8-1/2 × 11			09		771
144	က	8-1/2 × 11			09		828
145	carbonless: 4 part, reverse	8-1/2 × 11			09		954
146	carbonless: 5 part, reverse	8-1/2 x 11			9	16.15	696
147	carbonless: 6 part, reverse	8-1/2 × 11			09	19	1140
148	carbonless: 2 part, reverse	8-1/2 × 14			9	16.56	993.6
149	carbonless: 3 part, reverse	8-1/2 x 14			09	17.65	1059
150	carbonless: 4 part, reverse	8-1/2 × 14			09	19	1140
151	carbonless: 5 part, reverse	8-1/2 × 14			09	19.5	1170
152	carbonless: 6 part, reverse	8-1/2 × 14		-	09	21	1260
153	carbonless: 2 part, reverse	11 x 17			09	25.7	1542
154	carbonless: 3 part, reverse	11 x 17			9	28.7	1722
155	carbonless: 4 part, reverse	11 x 17			09	29.75	1785
156	carbonless: 5 part, reverse	11 × 17			09		1860
157	carbonless: 6 part, reverse	11 x 17			09	33	1980
158	carbonless: 4 part, reverse	17-1/2 × 22-1/2			90		3960
159	carbonless: cb	8-1/2 x 11		white	75	14.69	1101.75
160	carbonless: cb	8-1/2 × 11		color	30	15.5	465
161	carbonless: cfb	8-1/2 x 11		white	75	17.25	1293.75
162	carbonless: cfb	8-1/2 × 11		color	30	17.5	525
163	carbonless: cf	8-1/2 x 11		white	75	11	825
164	carbonless: cf	8-1/2 x 11		color	30	11.5	345
165	carbonless: cb	8-1/2 x 14		white	75		1650
166	carbonless: cb	8-1/2 x 14		color	30	19	570
167	carbonless: cfb	8-1/2 × 14		white	75		1687.5
168	carbonless: cfb	8-1/2 x 14		color	30	22.75	682.5
169	carbonless: cf	8-1/2 x 14		white	75	14.15	1061.25
170	carbonless: cf	8-1/2 x 14		color	30	4	442.5
171	carbonless: cb	11×17		white	30	29.5	885
172	carbonless: cb	11×17		color	30		1020
173	carbonless: cfb	11×17		white	30		675
174	carbonless: cfb	11×17		color	90	23.5	705
175	carbonless: cf	11×17		white	30		624
176	carbonless: cf	11×17		color	တ္တ	22	099
177	carbonless: cb	22-1/2 × 34-1/2		white	30		3450
178	carbonless: cb	22-1/2 × 34-1/2		color	30	122	3660

Page 5 of 7

					EST		
40	Description	<u></u>	Wolcht	بوادر	Usage	Price Per	Loto
IIeIII		9710	Weighit	000	(0001)	1,000	- Otal
179	carbonless: cfb	22-1/2 × 34-1/2		white	30	139	4170
180	carbonless: cfb	22-1/2 × 34-1/2		color	30	141	4230
181	carbonless: cf	22-1/2 x 34-1/2		white	30	8	2520
182	carbonless: cf	22-1/2 × 34-1/2		color	08	68	2670
183	carbonless: cf tag	22-1/2 x 34-1/2		white	30	250	7500
184	carbonless: cf tag	22-1/2 × 34-1/2		manila	30	250	7500
185	compound: padding for carbonless paper	quarts			300	22.5	6750
186	compound: padding for carbonless paper	gallons			009	62.5	37500
187	laser print: 25% cotton fiber	8-1/2 x 11	24#	white	150	18.5	2775
188	laser print: BR 92	8-1/2 x 11	24#	white	150	7.5	1125
189	laser print: BR 92	8-12 x 14	24#	white	09	17.5	1050
190	laser print: BR 92	11 x 17	24#	white	30	25	750
191	chipboard, plain, .030 calipre bundle	8-1/2 x 11			300	26	7800
192	chipboard, plain, .030 calipre bundle	8-1/2 x 14			150	20	3000
193	chipboard, plain, .030 calipre bundle	22-1/2 × 34-1/2			75	25	1875
194	paper: wrap, kraft or equal roll	18"w x 9"dia.	40#		92		
195	paper: wrap, kraft or equal roll	24"w x 9"dia.	40#		75		
196	paper: wrap, kraft or equal each	30"w x 9"dia.Roll	40#		75		
197	paper: wrap, kraft or equal, recycled each	18'w x 9"dia. Roll	40#		92		
198	wrap: plastic shrink, center fold each	16" width Roll	75 gauge		75		
199	card: 1 part, tab	16 x 3-1/4	24#		30		
200	Linen - Ivory	8 1/2 x 11	24#		1000	24	24000
201	Linen Envelope - Ivory	#10	24#		1000	56	56000
202	Writing Ivory	8 1/2 x 11	24#		1000	24	24000
203	Ivory Envelope	#10	24#		1000	99	56000
	Company XPEDX_, An International Paper Company	sr Company					
	Contact C.R. Brown	Signature: C.R. Brown	Moren	3			
		11	וי				

Page 6 of 7

				EST		
				Usage	Price Per	
Item	Description	Size	Weight Color		1,000	Total
	(Print Name)					
	Dhono: 850 303 7535 or 800 087 5270 #1	01-1881 Post	J. S. S. S. S. S. S. S. S. S. S. S. S. S.	Moin		
			770			
			XOEDX	Litera	stone	
	Fax: 800 890-2779		hope	Poper Co		
			•			
	Email:_clennon.brown@xpedx.com_					
	· · · · · · · · · · · · · · · · · · ·					
				_]

RFQ No. Vesa 10

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

VENDOR OWING A DEBT TO THE STATE:

West Virginia Code §5A-3-10a provides that: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

PUBLIC IMPROVEMENT CONTRACTS & DRUG-FREE WORKPLACE ACT:

West Virginia Code §21-1D-5 provides that: Any solicitation for a public improvement construction contract shall require each vendor that submits a bid for the work to submit at the same time an affidavit that the vendor has a written plan for a drug-free workplace policy in compliance with Article 1D, Chapter 21 of the West Virginia Code. A public improvement construction contract may not be awarded to a vendor who does not have a written plan for a drug-free workplace policy in compliance with Article 1D, Chapter 21 of the West Virginia Code and who has not submitted that plan to the appropriate contracting authority in timely fashion. For a vendor who is a subcontractor, compliance with Section 5, Article 1D, Chapter 21 of the West Virginia Code may take place before their work on the public improvement is begun.

ANTITRUST:

In submitting a bid to any agency for the state of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the state of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the state of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the state of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership or person or entity submitting a bid for the same materials, supplies, equipment or services and is in all respects fair and without collusion or fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

LICENSING:

Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agencies or political subdivision. Furthermore, the vendor must provide all necessary releases to obtain information to enable the Director or spending unit to verify that the vendor is licensed and in good standing with the above entities.

CONFIDENTIALITY:

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendors should visit www.state.wv.us/admin/purchase/privacy for the Notice of Agency Confidentiality Policies.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor acknowledges the information in this said affidavit and is in compliance with the requirements as stated. International

Authorized Signature: